Puzzle 3878, Difficulty 10

33 | 9 1 ie4 | 13 | (13
3]2|5|4]8 /97|61
””” 9 1 il 19" |
8|4 (16 |3 |7}5|2|9
11 ,,,,: | i éffii:ffffff,: %’2’::3 3 : : :
7196|2158 |4]|3:
: i ;‘fiiiil”{{’ii: ’2’2’::’:::,: ‘ ——— j|’7’iii ,,,,,,,,,,,,,
4325 |7[6[1]9]8;
1’9’:;‘ i i i i 3 : ‘Iiéi::' ’2’4’,’:’1 ié’””ffffff,:
5198 ]2)3]6/7]4
T I IRERI |
6 (87|19 |af3|5]2]
1’(’)”",: ’2’0’,’: — :’ ,,,,,,,,,,,,,,,,,,,,,,,,, ; ; fr—
96|43 |5|8[2]1|7
— T R o
117 |319612]4]8]5
151 A
2]5/817]4 /11936

Copyright (c) www.dailykillersudoku.com




